TBC/XBC

$ EMC

RESEL
© g
PE(mm) 32 | 40 | s0 | 63 | 8o | 100 | 125 | 160
FER S
TENR 240 u MIBETIRNES
TYEEH(MPa) 0.1~1.0
I ESI (MPa) 1.5
T{ERECC) -20~70(FREEkK)
SESEIRE (mm/s) 50~800 | 30~500
Eif AIAZH
P1TRE(mm) 25 | 24 | 30 ES
BRI LB FA FB CA CB TC
BEOR G1/8 | G1/4 | Gis | G1/2 | G3/4

O ITE%H|

RIRE ZHhBX BARS

C: SEih 32 25 10
o 40 50 20
TB: EZUHIE e ) 50 75 30
XB: KFHIFIE f'EElD'. %?fi% 63 40
J: g 80 >0
100 greaye) 75
125 qwreArey 100
160
RIAEB SBHBX BARB S X 81 X 782 -
C: SE 32 25 25
4 50 50
TB: REEIR T: SMER 50 75 75
63
100

HERP#®AS S : TBC40X50-S-CA
B ST SN, NAROREILIFSFSIS: CA/CB/CR/LB

wafE -

EHM4HE - REME - FRRH

= R Z=H: Lk =3: G
S: PR CA TCM
=E: REHME D \'(JJ
Vv BEEME
GrnviTons  FA - YC
4%, wWxHNBR  FB BJ
BEEEEIET) TC FD
HMARSB - EHEME - RERE - TERS
s = N 177 ZFH: G
S: PR

ITEE TBCRGISEL, 1240, 171850, WA, HHMEMEATRENMER REMHACA,

/FA/FB/TC/1)/Y)/BJ/FD(TCH X AAFTBC)

© 1EHEC

FA/FB

“ www.emc-machinery.com

3.114

TBC/XBC [



TBC/XBC R5F S ¥ EmC”

............ TR
A2 (mm) FRAEITIE(mm) FRKITIE(mm)
32 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 1900
40 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 1900

50~160 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1900
............ B G
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 ’%—% %1*%*’]" M ﬁ
NNW Ww /7 1| ~mEE BN
c Y < 2 HIEAT S45CHEREIR T EERE
N FEE T TPU
4 BT i &R
el RS NDAN 5 | mi= BE
6 Z e NBR
7 | oms NBR
] — — — — — — — 4(;1 — -
5 T 8 | &Iff e
9 | omEg NBR
A-AREE o ez s
11 | BERHE NBR
12 | WNREESKERET iR
13 | WER PTFE
14 | #% AR
15 | At )
16 | HIFT420E ]
17 | B= s
18 | SMEIHE T
19 | ORI NBR
20 | Eirhigs =i
SpRERTE
TBC ®32-9160
A+HTE2
B C+{71#2
-— E F G G
‘ o N i ﬁ’ i N
~
S J e
—/\
| e @{.u ,,,,, ()
| (\ [14 ['4
| U )\ |
& ®/ w [
ATEIR
Q - g Q
RE/HBS A B C D E F G H | Jl K L
32 140 47 93 26 32 15 27.5 22 17 6 M10X1.25| Méx1
40 142 49 93 32 34 15 27.5 24 17 7 M12X1.25 |  M6X1
50 150 57 93 38 42 15 27.5 32 23 8 M16X1.5 |  M6X1
63 153 57 96 38 42 15 27.5 32 23 8 M16X1.5 | M8X1.25
80 182 75 107 46 54 21 33 40 26 10 M20X1.5 | M10X1.5
100 188 75 113 46 54 21 33 40 26 10 M20X1.5 | M10X1.5
125 218 88 130 52 68 20 38 54 41 13.5 | M27X2.0 |M12X1.75
160 254 113 141 62 88 25 38 72 55 18 M36X2.0 | M16X2.0
RRIES M N (0] B Q R S T \ w
32 13 14 1/8" 3.5 7 6.5 45 33 12 10
40 13 13.5 1/4" 5 5.5 8.5 50 37 16 14
50 13 14.5 1/4" 8.5 3 11 62 47 20 17
63 13 15 3/8" 7 5 9.5 75 56 20 17
80 15.5 16.5 3/8" 7 8 10 94 70 25 22
100 15.5 16.5 1/2" 7.5 8 13 112 84 25 22
125 19 19 1/2" 15 5 15 137.5 104 32 27
160 19.5 19 3/4" 15 6 15 173.5 134 40 36

3.115 www.emc-machinery.com



TBC/XBC R5IRHESEL

\#‘ E-MC

TBCD ®32-9160

A1+1T7Ex2

C+17#8

B+{T#&

E+{712

REFS Al B C D E E G H | J K L
32 187 47 93 26 32 15 27.5 22 17 6 M10X1.25 M6X1
40 191 49 93 32 34 15 27.5 24 17 7 M12X1.25 M6X1
50 207 57 93 38 42 15 27.5 32 23 8 M16X1.5 M6X1
63 210 57 96 38 42 15 27.5 32 23 8 M16X1.5 M8X1.25
80 257 75 107 46 54 21 33 40 26 10 M20X1.5 M10X1.5
100 263 75 113 46 54 21 33 40 26 10 M20X1.5 M10X1.5
125 306 88 130 52 66 20 38 54 41 13.5 M27X2.0 M12X1.75
160 367 113 141 62 88 25 38 72 55 18 M36X2.0 M16X2.0
NEIFS M N (6] P Q R S T Vv w
32 13 14 1/8" 3.5 7 6.5 45 33 12 10
40 13 13.5 1/4" 5 5.5 8.5 50 37 16 14
50 13 14.5 1/4" 8.5 3 11 62 47 20 17
63 13 15 3/8" 7 5 9.5 75 56 20 17
80 15.5 16.5 3/8" 7 8 10 94 70 25 22
100 15.5 16.5 1/2" 7.5 8 13 112 84 25 22
125 19 19 1/2" 15 5 15 137.5 104 32 27
160 19.5 19 3/4" 15 6 15 173.5 134 40 36
* MBS RMEEZ RS8R
#&iE: XBCRISIMERTSTBCRIIER,
TBCJ ®32-9160
A2+1TE2X2+A[A1TAR
C+17#2
G G | F__ 178
N ( N
=~ 2-0
"""""""""""" J
Cb/j ji'@ 1
TR R D Clep| | ev] T HF
f f
""""""""""" Z+TIETTRR
lal~ 2-Zmigs  Jal-
RERS A2 B C D = = G H | J K L
32 182 47 93 26 32 15 27.5 22 17 6 M10X1.25 M6X1
40 185 49 93 32 34 15 27.5 24 17 7 M12X1.25 M6X1
50 196 57 93 38 42 15 27.5 32 23 8 M16X1.5 M6X1
63 199 57 96 38 42 15 27.5 32 23 8 M16X1.5 8X1.25
80 242 75 107 46 54 21 33 40 26 10 M20X1.5 10X1.5
100 248 75 113 46 54 21 33 40 26 10 M20X1.5 10X1.5
125 286.5 88 130 52 68 20 38 54 41 13.5 M27X2.0 M12X1.75
160 337 113 141 62 88 25 38 72 55 18 M36X2.0 M16X2.0
RNE/HS M N O P Q R S T Vv w z
32 13 14 1/8" 3.5 7 6.5 45 33 12 10 21
40 13 13.5 1/4" 5 5.5 8.5 50 37 16 14 21
50 13 14.5 1/4" 8.5 3 11 62 47 20 17 23
63 13 15 3/8" 7 5 9.5 75 56 20 17 23
80 15.5 16.5 3/8" 7 8 10 94 70 25 22 29
100 15.5 16.5 1/2" 7.5 8 13 112 84 25 22 29
125 19 19 1/2" 15 5 15 137.5 104 32 27 35
160 19.5 19 3/4" 15 6 15 173.5 134 40 36 40

www.emc-machinery.com

3.116



TBC/XBC EFliF S AL S 2ve

SpERTHE

A3+{TH2 1x2+1TH22
B C+{Ti21x2+{TH22

5 @?

U+1T721 G

w_ /| e
ammia - L
- U TR 14722
RG-S A3 B c D E F G | & | H o K L
32 233 | 47 | 186 | 26 | 32 15 | 275 | 55 | 22 | 17 | 6 | M10X1.25| M6X1
40 235 | 49 | 186 | 32 | 34 15 | 275 | 56 | 24 | 17 | 7 | Mi2X1.25] M6X1
50 243 | 57 | 186 | 38 | 4» 15 | 275 | 556 | 32 | 28 | 8 | Mi6X1.5 | M6x1
63 249 | 67 | 102 | 38 | 40 15 | 2756 | 55 | 32 | 23 | 8 | Mi6X1.5 |M8X1.25
80 206 | 75 | 221 | 46 | 4 | 21 | 33 | 73 | 40 | 26 | 10 | M20X1.5 [M10X15
100 308 | 75 | 233 | 46 | 54 | 21 | 33 | 73 | 40 | 26 | 10 | M20X1.5 |M10X1.5
W/ M N o P Q R s T v u w
32 13 14 1/8" 3.5 7 6.5 45 33 12 38 10
40 13 135 | /4" 5 5.5 8.5 50 37 16 38 14
50 13 145 [ 14 8.5 3 11 62 47 20 38 17
63 13 15 3/8" 7 5 9.5 75 56 20 41 17
80 155 | 165 | a/s" 7 8 10 94 70 25 41 22
100 155 | 165 | 1/2" 7.5 8 13 112 84 25 47 22

* WREE S AM#E 2 R~T1ERE
#iE: XBCRIISMER~TSTBCRFIMER,

3.117 www.emc-machinery.com



TBC/XBC Z5tFESEL
x;ff E-MC

OLB B R~

OFAFBRIRY |

OCBEI R~}

OTCER~F

OTCME R~}

v

BIS\I¥S | AA | AC | AD | AE | AF | AG| AH | AP | AT :
. FJ-TBC32LB | 153 | 132 [10.5| 50 | 33 |19.5]| 28 9 3
: FJ-TBC40LB | 169 | 140 [14.5| 57 36 |23.5[ 30 12 3
: FJ-TBC50LB | 173 | 149 |11.5| 68 | 47 [285|365| 12 | 3
: FJ-TBC63LB | 184 | 158 | 13 80 56 32 41 12 3
: FJ-TBC8OLB | 199 | 167 | 16 97 70 | 29 49 14 4
- FJ-TBC100LB| 209 | 173 | 18 |112.5| 84 | 30 57 14 4

RIS\FFS |AJ|AK| BA |BB|BC(BD|BE|BF|BH|BP | T
© FJ-TBC32FA [11| 7 [285|10| 47|33 | 72|58 |65| 7 |33
: FJ-TBC40FA |11]| 7 [325[10] 52|36 |84 |70 | 65| 7 |37
: FJ-TBC50FA |11| 7 [385|10| 65| 47 |[104| 86 [ 65| 9 | 47
© FJ-TBC63FA |14| 9 [385|12]| 73 [ 56 [115| 98 | 85 [ 9 | 56
: FJ-TBC8OFA |17 [ 11[475]16] 92 [ 70 [141]119]105] 11 | 70
: FJ-TBC100FA| 17| 11 [47.5| 16 |113| 84 [160|138[105[ 11 | 84

BE\FS DA|DC|DE|[DJ|DP|[DQ|DZ |S | T
: FJ-TBC32CA | 48 | 34 | 12 | 10 7 16 | 55 | 44 | 33
: FJ-TBC40CA | 48.5| 34 14 [105]| 7 20 | 55 [49.5| 37
: FJ-TBC50CA | 48.5| 33 14 |105| 7 20 | 65 62 | 47
: FJ-TBC63CA | 50 | 34 | 14 |105] 9 20 [ 65 [ 72 | 56
* FJ-TBC80OCA | 66.5| 48 | 20 | 13 | 11 [ 32 [ 10 | 92 | 70
: FJ-TBC100CA| 65.5| 48.5| 20 | 13 | 11 [ 32 [ 10 [110] 84

RB\FS DA |DC|DE| DJ [DP| DQ|DT | s | T
FJ-TBC32CB | 32.5 |19.5| 12 [ 10 7 | 165[325 ]| 47 | 33
FJ-TBC40CB | 32.5 |19.5| 14 [ 105 | 7 | 20.5| 44 | 50 | 37 :
FJ-TBC50CB | 34 19 | 14 | 105 | 7 | 20.5| 52 | 62 | 47 :
FJ-TBC63CB | 34 22 | 14 | 10 9 | 205| 52 [ 72| 56 :
FJ-TBC80CB 50 32 | 20 13 11| 325| 64 | 93 | 70 :
FJ-TBC100CB| 51 32 | 20 [135] 11[325] 64 [110] 84 :
RE\FS EA EB EC EE EP ET T
FJ-TBC32TC 38 89 54 55 16 31 33
FJ-TBC40TC 46 116 65 63 25 30.5 37
FJ-TBC50TC 56 127 76 75 25 29 47
FJ-TBC63TC 69.5 140.5 90 88 25 31 56
FJ-TBC80TC 87.5 165 107 114 25 36 70
FJ-TBC100TC 107.5 181 131 132 25 41 84
BME\FS HA | HB | HD | HP | HT | HQ | HJ

: FJ-TBC32TCM 110.5 | 80 16 12 13 | 215 51

: FJ-TBC40/50/63TCM| 111.5 80 25.5 12 10.5 21 50.5

: FJ-TBC80/100TCM 110 85 25.5 14 15 20.5 71

N
I
<
AG AC+712 AG| [TAD
! AA+(TEE ‘
4-0AP
4 I | L
< <
I I o
BE
BF
aT
|

1o ©®© | ©o
i
e | oF
CPNE
AT A

H
!

www.emc-machinery.com

3.118





